36 802 6" Valve and Appurtenances Including H.D. Valve Box

37 802 8" Valve and Appurtenances Including H.D. Valve Box

N Ci	D TABULATION COLUMBIA AVENUE WATER MAIN IMPROVEMENTS ity of Bexley, Ohio ds Opened: January 8th , 2025, 1:00 p.m.														
Ref. No.	Item Description	Unit	Quantity	5	er's Estimate	1515 I Columbu	nd Sands, Inc. Harman Ave. s, Ohio 43223 444-5100	4500 Sn Mansfield	ating Co. of Ohio odgrass Road d, Ohio 44903 683-4200	8077 N Plain Cit	nbert, Inc. Lemorial Drive y, Ohio 43064 873-4677	121 S. W Crestline	xcavating, LLC /ashington Ave -, Ohio 44903 224-1421	1221 Columbu	neral Construction Co. E. Fifth Ave. us, Ohio 43219 1) 258-9515
				Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
	N COLUMBIA AVENUE WATER MAIN BASE BID														+
1	201 Clearing and Grubbing Removal of Existing Water Valve Boxes Including 304 Backfill and	LS	1	\$2,000.00	\$2,000.00	\$4,500.00	\$4,500.00	\$10,000.00	\$10,000.00	\$2,500.00	\$2,500.00	\$47,000.00	\$47,000.00	\$7,500.00	\$7,500.00
2	202 Pavement Replacement 301 (10")	EA	8	\$1,200.00	\$9,600.00	\$100.00	\$800.00	\$1,500.00	\$12,000.00	\$1,525.00	\$12,200.00	\$750.00	\$6,000.00	\$1,500.00	\$12,000.00
3	202 Pipe Removed (6" Water)	LF	98	\$80.00	\$7,840.00	\$6.00	\$588.00	\$25.00	\$2,450.00	\$23.25	\$2,278.50	\$15.00	\$1,470.00	\$25.00	\$2,450.00
4	202 Pipe Removed (8" Storm)	LF	0	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5	202 Pipe Removed (12" Storm)	LF	30	\$50.00	\$1,500.00	\$13.00	\$390.00	\$50.00	\$1,500.00	\$49.25	\$1,477.50	\$18.00	\$540.00	\$25.00	\$750.00
6	202 Pipe Removed (18" Storm)	LF	68	\$50.00	\$3,400.00	\$12.00	\$816.00	\$35.00	\$2,380.00	\$34.25	\$2,329.00	\$21.00	\$1,428.00	\$25.00	\$1,700.00
7	202 Storm Manhole Removed	EA	1	\$1,500.00	\$1,500.00	\$350.00	\$350.00	\$1,000.00	\$1,000.00	\$1,684.50	\$1,684.50	\$1,000.00	\$1,000.00	\$850.00	\$850.00
8	202 Curb Inlet Manhole Removed	EA	0	\$1,500.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
9	202 Walk Removed	SF	320	\$5.00	\$1,600.00	\$3.00	\$960.00	\$1.00	\$320.00	\$5.00		\$6.00	\$1,920.00	\$4.00	\$1,280.00
10	202 Curb & Gutter Removed	LF	150	\$10.00	\$1,500.00	\$3.00	\$980.00	\$1.00	\$750.00	\$3.00	\$1,600.00	\$12.00	\$1,920.00	\$12.00	\$1,280.00
11	202 Pavement Removed (As Directed)	SY	100	\$18.00	\$1,800.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$26.50	\$2,650.00	\$5.00	\$500.00	\$50.00	\$5,000.00
12	202 Luminaire Support Foundation Removed	EA	2	\$1,000.00	\$2,000.00	\$3,000.00	\$6,000.00	\$2,100.00	\$4,200.00	\$1,730.00	\$3,460.00	\$2,020.00	\$4,040.00	\$3,000.00	\$6,000.00
13	202 Pull Box Removed Disconnect existing street light cable, S Commonwealth Park & Columbia,	EA	2	\$500.00	\$1,000.00	\$750.00	\$1,500.00	\$605.00	\$1,210.00	\$590.00	\$1,180.00	\$630.00	\$1,260.00	\$750.00	\$1,500.00
14	202 per plan Removal of Unsuitable Base and Replacement w/ 301 Asphalt Concrete	EA	1	\$500.00	\$500.00	\$900.00	\$900.00	\$2,500.00	\$2,500.00	\$675.00	\$675.00	\$2,450.00	\$2,450.00	\$900.00	\$900.00
15	203 Base, As Directed (Contingency for Trench Repair)	СҮ	100	\$600.00	\$60,000.00	\$250.00	\$25,000.00	\$385.00	\$38,500.00	\$600.00	\$60,000.00	\$750.00	\$75,000.00	\$850.00	\$85,000.00
16	Removal of Unsuitable Base and Replacement w/ 304 Limestone Base, As 203 Directed (Contingency for Trench Repair)	s CY	50	\$200.00	\$10,000.00	\$100.00	\$5,000.00	\$90.00	\$4,500.00	\$200.00	\$10,000.00	\$200.00	\$10,000.00	\$200.00	\$10,000.00
17	207 Temporary Erosion and Sediment Control	LS	1	\$5,000.00	\$5,000.00	\$22,500.00	\$22,500.00	\$2,500.00	\$2,500.00	\$4,595.00	\$4,595.00	\$6,000.00	\$6,000.00	\$7,500.00	\$7,500.00
	Asphalt Concrete Pavement Replacement for Water Line & Storm Sewer Trench - 3" 441 Type 1 over 5" 441 Type 2 per Standard DWG BEX-UT						+,								
18	253 04 Type IIC	CY	535	\$600.00	\$321,000.00	\$300.00	\$160,500.00	\$425.00	\$227,375.00	\$623.75	\$333,706.25	\$384.00	\$205,440.00	\$615.00	\$329,025.00
19	407 Tack Coat, NTSS.1M @ 0.10 gal/SY	GAL	250	\$20.00	\$5,000.00	\$3.25	\$812.50	\$4.00	\$1,000.00	\$72.25	\$18,062.50	\$5.00	\$1,250.00	\$4.90	\$1,225.00
20	604 Type C Manhole	EA	1	\$5,000.00	\$5,000.00	\$4,800.00	\$4,800.00	\$6,000.00	\$6,000.00	\$7,555.00	\$7,555.00	\$3,900.00	\$3,900.00	\$7,000.00	\$7,000.00
21	604 Manhole Adjust to Grade	EA	1	\$500.00	\$500.00	\$750.00	\$750.00	\$1,500.00	\$1,500.00	\$1,246.50	\$1,246.50	\$2,700.00	\$2,700.00	\$800.00	\$800.00
22	605 Remove and Replace 4" Pipe Underdrain, As Directed Remove and Replace Concrete Curb Ramp and Sidewalks 4" to 6" thick,	LF	60	\$10.00	\$600.00	\$20.00	\$1,200.00	\$15.00	\$900.00	\$45.25	\$2,715.00	\$17.00	\$1,020.00	\$28.00	\$1,680.00
23	608 Class S, Per BEX-ST-11, 13, Spot Work As Directed	SF	800	\$25.00	\$20,000.00	\$28.00	\$22,400.00	\$20.00	\$16,000.00	\$27.00	\$21,600.00	\$36.00	\$28,800.00	\$24.00	\$19,200.00
24	609 Concrete Curb and Gutter Per BEX-ST-09, Spot Work as Directed	LF	150	\$ 60.00	\$9,000.00	\$75.50	\$11,325.00	\$70.00	\$10,500.00	\$96.25	\$14,437.50	\$70.00	\$10,500.00	\$80.00	\$12,000.00
25	614 Maintaining Traffic	LS	1	\$ 25,000.00	\$25,000.00	\$132,000.00	\$132,000.00	\$20,000.00	\$20,000.00	\$30,000.00	\$30,000.00	\$17,000.00	\$17,000.00	\$100,000.00	\$100,000.00
26	616 Water for Dust Control & Street Cleaning	MGA	L 30	\$ 110.00	\$3,300.00	\$25.00	\$750.00	\$25.00	\$750.00	\$110.00	\$3,300.00	\$6.00	\$180.00	\$80.00	\$2,400.00
27	Seeding & Mulching w/ 4" Topsoil, Spot Work for Water Main Service 659 Pits and Fire Hydrants	SY	250	\$ 20.00	\$5,000.00	\$40.00	\$10,000.00	\$20.00	\$5,000.00	\$16.00	\$4,000.00	\$59.00	\$14,750.00	\$11.00	\$2,750.00
28	659 Seeding & Mulching w/ 8" Topsoil	SY	300	\$ 25.00	\$7,500.00	\$45.00	\$13,500.00	\$25.00	\$7,500.00	\$29.50	\$8,850.00	\$60.00	\$18,000.00	\$15.00	\$4,500.00
29	659         Water (for Seeded Areas) as Directed           6" D.I. Water Main and Fittings (Class 53) Including 304 Limestone	MGA	L 40	\$ 100.00	\$4,000.00	\$75.00	\$3,000.00	\$50.00	\$2,000.00	\$200.00	\$8,000.00	\$6.00	\$240.00	\$2.00	\$80.00
30	801 Backfill 8" D.I. Water Main and Fittings (Class 53) Including 304 Limestone	LF	430	\$ 185.00	\$79,550.00	\$211.50	\$90,945.00	\$188.00	\$80,840.00	\$173.10	\$74,433.00	\$225.00	\$96,750.00	\$240.00	\$103,200.00
31	801 Backfill	LF	3521	\$ 205.00	\$721,805.00	\$168.00	\$591,528.00	\$189.00	\$665,469.00	\$186.10	\$655,258.10	\$230.00	\$809,830.00	\$330.00	\$1,161,930.00
32	16" D.I. Water Main and Fittings (Class 53) Including 304 Limestone 801 Backfill	LF	10	\$ 1,500.00	\$15,000.00	\$1,320.00	\$13,200.00	\$1,800.00	\$18,000.00	\$1,229.75	\$12,297.50	\$480.00	\$4,800.00	\$800.00	\$8,000.00
33	801 Chlorination and Testing per AWWA C651 by Contractor	LS	1	\$ 7,500.00	\$7,500.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00	\$9,500.00	\$9,500.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00
34	801 Fittings, Increase/Decrease (Contingency)	LB	600	\$ 6.00	\$3,600.00	\$3.50	\$2,100.00	\$3.00	\$1,800.00	\$5.00	\$3,000.00	\$0.50	\$300.00	\$4.00	\$2,400.00
35	Remove & Replace Existing 6" Valve and Appurtenances Including H.D. 802 Valve Box ( Contingency)	EA	4	\$ 7,000.00	\$28,000.00	\$2,500.00	\$10,000.00	\$2,500.00	\$10,000.00	\$5,619.50	\$22,478.00	\$4,125.00	\$16,500.00	\$3,500.00	\$14,000.00
			+ -	\$ 7,000.00	\$20,000.00	ψ <b>2</b> ,500.00		\$2,500.00		\$3,517.50	ψ22,47 0.00	ψ <del>-</del> , 123.00	÷ • • • • • • • • • • • • • • • • • • •	<i>\$</i> 0,000.00	

\$1,850.00

\$2,500.00

\$5,550.00

\$15,000.00

\$2,000.00

\$3,200.00

\$6,000.00

\$19,200.00

\$1,842.00

\$2,444.25

\$6,600.00

\$15,000.00

\$5,526.00

\$14,665.50

\$4,125.00

\$4,720.00

\$2,200.00

\$2,800.00

\$6,600.00

\$16,800.00

\$12,375.00

\$28,320.00

3 \$ 2,200.00

6 \$ 2,500.00

EA

EA

). 	6630 T	ard Electric Co. aylor Road	1595	Paving Company Frank Road	3042	struction Company McKinley Ave
$\dashv$		Ohio 43004		us, Ohio 43223		us, Ohio 43204
-	(614)	258-9515	(014	276-5273	(614	) 488-7958
	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
			T			
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
$\square$						
$\vdash$		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
+		No Bid		No Bid		No Bid
-		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid				No Bid
				No Bid		
		No Bid		No Bid		No Bid
-		No Bid		No Bid		No Bid
-		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
$\top$		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid
+		No Bid		No Bid		No Bid
		No Bid		No Bid		No Bid

## **BID TABULATION** N COLUMBIA AVENUE WATER MAIN IMPROVEMENTS

City of Bexley, Ohio

City of Dexley	, 0110		
Ride Opened	lanuary 8th	2025	1.00 -

	ty of Bexley, Ohio ds Opened: January 8th , 2025, 1:00 p.m.																			
Ref. No.	Item Description	Unit Quantity	-	er's Estimate	1515 H Columbus	nd Sands, Inc. Iarman Ave. , Ohio 43223 444-5100	4500 S Mansfie	vating Co. of Ohio nodgrass Road Id, Ohio 44903 1) 683-4200	8077 M Plain City	bert, Inc. emorial Drive , Ohio 43064 873-4677	121 S. W Crestline,	cavating, LLC ashington Ave , Ohio 44903 224-1421	1221 E Columbus	eral Construction Co. E. Fifth Ave. 7 Ohio 43219 258-9515	122 Columi	eneral Construction Co. 1 E. Fifth Ave. ous, Ohio 43219 4) 258-9515	1595 Columbu	Paving Company Frank Road s, Ohio 43223 276-5273	3042 M Columbus,	truction Company AcKinley Ave 5, Ohio 43204 488-7958
			Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
																			ļ'	
38	802 16" Valve and Appurtenances Including H.D. Valve Box	EA 2	\$ 13,000.00	\$26,000.00	\$13,000.00	\$26,000.00	\$15,000.00	\$30,000.00	\$13,030.50	\$26,061.00	\$15,375.00	\$30,750.00	\$14,000.00	\$28,000.00		No Bid		No Bid	ļ'	No Bid
39	802 8"x6" Anchor Tee & Valve Including H.D. Valve Box	EA 8	\$ 2,700.00	\$21,600.00	\$2,600.00	\$20,800.00	\$3,500.00	\$28,000.00	\$2,593.25	\$20,746.00	\$2,250.00	\$18,000.00	\$2,750.00	\$22,000.00		No Bid		No Bid	ļ'	No Bid
40	Spec 16" Line Stop (Contingency, As Directed)	EA 1	\$ 35,000.00	\$35,000.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	\$39,750.00	\$39,750.00	\$22,725.00	\$22,725.00	\$30,000.00	\$30,000.00		No Bid		No Bid	ļ'	No Bid
41	1" Water Service Tap Transferred, Long, Type K Copper, Including New 805 Curb Stop Box, Per Plan	EA 23	\$ 3,500.00	\$80,500.00	\$2,250.00	\$51,750.00	\$5,000.00	\$115,000.00	\$3,854.00	\$88,642.00	\$4,190.00	\$96,370.00	\$4,500.00	\$103,500.00		No Bid		No Bid		No Bid
42	1" Water Service Tap Transferred, Short, Type K Copper, Including New 805 Curb Stop Box, Per Plan	EA 22	\$ 2,600.00	\$57,200.00	\$2,300.00	\$50,600.00	\$3,500.00	\$77,000.00	\$2,720.00	\$59,840.00	\$3,260.00	\$71,720.00	\$3,250.00	\$71,500.00		No Bid		No Bid		No Bid
	including connection to Meter by licensed plumber, by directional boring,	,		-								-								
43	805         not to exceed 50 lineal feet per each service(Contingency)           Install Additional Water Service Pipe, 1" Type K, from Curb Stop to yard	EA 3	\$ 6,000.00	\$18,000.00	\$6,000.00	\$18,000.00	\$4,000.00	\$12,000.00	\$5,202.25	\$15,606.75	\$8,370.00	\$25,110.00	\$6,000.00	\$18,000.00		No Bid		No Bid	<b>├</b> ───┤	No Bid
44	805 area behind walk by directional boring, as directed (Contingency)	LF 200	\$ 25.00	\$5,000.00	\$65.00	\$13,000.00	\$40.00	\$8,000.00	\$24.50	\$4,900.00	\$15.00	\$3,000.00	\$65.00	\$13,000.00		No Bid		No Bid	<sup> </sup>	No Bid
45	805 Upsize water service from 1" to 1.5" (Contingency)	EA 20	\$ 600.00	\$12,000.00	\$3,000.00	\$60,000.00	\$1,000.00	\$20,000.00	\$780.25	\$15,605.00	\$1,075.00	\$21,500.00	\$4,000.00	\$80,000.00		No Bid		No Bid	<b>├</b> ──── <sup>!</sup>	No Bid
46	806 18" Casing Pipe	LF 20	\$ 500.00	\$10,000.00	\$190.00	\$3,800.00	\$350.00	\$7,000.00	\$235.75	\$4,715.00	\$90.00	\$1,800.00	\$350.00	\$7,000.00		No Bid		No Bid	ļ'	No Bid
47	807 Curb Box Adjust to Grade	EA 2	\$ 200.00	\$400.00	\$125.00	\$250.00	\$150.00	\$300.00	\$159.50	\$319.00	\$1,700.00	\$3,400.00	\$250.00	\$500.00		No Bid		No Bid	ļ'	No Bid
48	808 Cut & Plug (Cap) 4" or 6" Water Main	EA 8	\$ 1,000.00	\$8,000.00	\$1,000.00	\$8,000.00	\$1,500.00	\$12,000.00	\$996.50	\$7,972.00	\$4,200.00	\$33,600.00	\$1,000.00	\$8,000.00		No Bid		No Bid	ļ'	No Bid
49	809 Fire Hydrant, per Plan	EA 8	\$ 5,500.00	\$44,000.00	\$6,300.00	\$50,400.00	\$6,000.00	\$48,000.00	\$4,984.75	\$39,878.00	\$9,000.00	\$72,000.00	\$5,800.00	\$46,400.00		No Bid		No Bid	ļ!	No Bid
50	809 Fire Hydrant, Removed and Delivered to City Service Department	EA 6	\$ 1,500.00	\$9,000.00	\$950.00	\$5,700.00	\$1,800.00	\$10,800.00	\$1,578.75	\$9,472.50	\$1,550.00	\$9,300.00	\$750.00	\$4,500.00		No Bid		No Bid	ļ	No Bid
51	810 6" or 12" Fire Hydrant Extensions (Contingency)	EA 4	\$ 1,000.00	\$4,000.00	\$1,100.00	\$4,400.00	\$860.00	\$3,440.00	\$1,095.00	\$4,380.00	\$990.00	\$3,960.00	\$850.00	\$3,400.00		No Bid		No Bid	ļ'	No Bid
52	811 Increase or Decrease in Excavation and 304 Backfill (Contingency)	CY 100	\$ 75.00	\$7,500.00	\$65.00	\$6,500.00	\$25.00	\$2,500.00	\$63.50	\$6,350.00	\$57.00	\$5,700.00	\$50.00	\$5,000.00		No Bid		No Bid	ļ'	No Bid
53	12" Polypropylene (ASTM 3212) Pipe with Watertight Joints with Item 901 912 Compacted Granular Material and Type I Bedding	LF 98	\$ 140.00	\$13,720.00	\$210.00	\$20,580.00	\$160.00	\$15,680.00	\$174.25	\$17,076.50	\$190.00	\$18,620.00	\$150.00	\$14,700.00		No Bid		No Bid		No Bid
54	18" Polypropylene (ASTM 3212) Pipe with Watertight Joints with Item 901 912 Compacted Granular Material and Type I Bedding	LF 35	\$ 150.00	\$5,250.00	\$182.00	\$6,370.00	\$200.00	\$7,000.00	\$195.50	\$6,842.50	\$383.00	\$13,405.00	\$200.00	\$7,000.00		No Bid		No Bid		No Bid
55	910 Plain Concrete Encasement of 12" Diameter Pipe	LF 0	\$ 65.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		No Bid		No Bid		No Bid
56	SPEC Pre-Locate Existing Utilities (Contingency)	EA 5	\$ 1,000.00	\$5,000.00	\$750.00	\$3,750.00	\$300.00	\$1,500.00	\$1,082.00	\$5,410.00	\$600.00	\$3,000.00	\$600.00	\$3,000.00		No Bid		No Bid		No Bid
	SS-11 Lateral Sanitary Sewer Televised	EA 50	\$ 300.00	\$15,000.00	\$400.00	\$20,000.00	\$600.00	\$30,000.00	\$1,082.00	\$14,750.00	\$415.00	\$20,750.00	\$500.00	\$25,000.00		No Bid		No Bid		No Bid
	SS-11 Lateral Storm Sewer Televised	EA 50	\$ 300.00	\$15,000.00	\$400.00	\$20,000.00	\$600.00	\$30,000.00	\$295.00	\$14,750.00	\$415.00	\$20,750.00	\$500.00	\$25,000.00		No Bid		No Bid		No Bid
59	Lateral Sanitary Die Tested (Contingency)	EA 50	\$ 300.00	\$15,000.00	\$25.00	\$20,000.00	\$500.00	\$25,000.00	\$295.00	\$14,750.00	\$150.00	\$20,730.00	\$250.00	\$12,500.00		No Bid		No Bid	<b>├</b> ───┤	No Bid
60	SS-11 Lateral Storm Die Tested (Contingency)	EA 50	\$ 50.00	\$2,500.00	\$25.00	\$1,250.00	\$500.00	\$25,000.00	\$295.00	\$14,750.00	\$150.00	\$7,500.00	\$250.00	\$12,500.00		No Bid		No Bid	<b>├</b> ───┤	No Bid
	SS-11 Lateral Status Report	LS 1	\$ 3,000.00	\$2,500.00	\$23.00	\$500.00	\$2,500.00	\$2,500.00	\$2,700.00	\$2,700.00	\$1,500.00	\$1,500.00	\$230.00	\$5,000.00		No Bid		No Bid		No Bid
- 01			\$ 5,000.00	<i>\\</i> 0,000.00		\$500.00	¥2,500.00	<i>\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\</i>	<i>\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\</i>	ψ <b>2</b> ,/ 00.00	ψ1,000.00	¢1,500.00		\$3,000.00						
	Miscellaneous & Contingency							+											<sup> </sup>	
62	614 Temporary Asphalt for Maintenance of Traffic, as Directed by Engineer.	CY 20	\$ 400.00	\$8,000.00	\$250.00	\$5,000.00	\$375.00	\$7,500.00	\$2.25	\$45.00	\$300.00	\$6,000.00	\$400.00	\$8,000.00		No Bid		No Bid	<sup> </sup>	No Bid
63	Spec. Hydro Excavate for Water Service Reconnections, as Directed by Engineer	r EA 20	\$ 800.00	\$16,000.00	\$400.00	\$8,000.00	\$250.00	\$5,000.00	\$777.25	\$15,545.00	\$250.00	\$5,000.00	\$500.00	\$10,000.00		No Bid		No Bid	ļ'	No Bid
64		LF 200	\$ 100.00	\$20,000.00	\$15.00	\$3,000.00	\$30.00	\$6,000.00	\$142.00	\$28,400.00	\$45.00	\$9,000.00	\$50.00	\$10,000.00		No Bid		No Bid		No Bid
	Install new Pullbox, 13" x 25" In place of street Light Foundation to be removed, include new 2" conduits as needed to connect to existing																			
65		EA 1	\$ 1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$1,900.00	\$1,900.00	\$3,170.00	\$3,170.00	\$2,050.00	\$2,050.00	\$2,000.00	\$2,000.00		No Bid		No Bid	ļ'	No Bid
66	1001 Underground Circuit, 3-Wire (MIS-404)	CKT FT 392	\$ 6.00	\$2,352.00	\$10.00	\$3,920.00	\$8.00	\$3,136.00	\$11.98	\$4,696.16	\$8.00	\$3,136.00	\$10.00	\$3,920.00		No Bid		No Bid	ļ'	No Bid
67	Spec. Force Account	EA 1	\$90,000.00	\$90,000.00	\$90,000.00	\$90,000.00	\$90,000	\$90,000.00	\$90,000.00	\$90,000.00	\$90,000	\$90,000.00	\$90,000	\$90,000.00		No Bid		No Bid	ļ'	No Bid
	N COLUMBIA AVE WATER BASE BID TOTALS			\$1,957,717.00		\$1,705,684.50		\$1,838,900.00		\$1,936,482.76		\$2,065,209.00		\$2,617,240.00		No Bid		No Bid	<u> </u>	No Bid

	N COLUMBIA ALTERNATE 1 BID-STORM SEWER											1			
1	604 Type C Manhole (AA-S102), Per Plan	EA	6	\$ 4,000.00	\$24,000.00	\$4,850.00	\$29,100.00	\$4,700.00	\$28,200.00	\$5,568.00	\$33,408.00	\$5,000.00	\$30,000.00	\$6,500.00	\$39,000.00
2	604 Curb & Gutter Inlet (AA-S125A), Per Plan	EA	4	\$ 4,000.00	\$16,000.00	\$3,850.00	\$15,400.00	\$3,100.00	\$12,400.00	\$4,552.00	\$18,208.00	\$6,600.00	\$26,400.00	\$3,600.00	\$14,400.00
3	8" Polypropylene (ASTM 3212) Pipe with Watertight Joints with Item 912 901 Compacted Granular Material and Type I Bedding	LF	422	\$ 130.00	\$54,860.00	\$94.00	\$39,668.00	\$121.00	\$51,062.00	\$120.00	\$50,640.00	\$113.00	\$47,686.00	\$110.00	\$46,420.00
4	12" Polypropylene (ASTM 3212) Pipe with Watertight Joints with Item 901 912 Compacted Granular Material and Type I Bedding	LF	656	\$ 140.00	\$91,840.00	\$110.00	\$72,160.00	\$145.00	\$95,120.00	\$137.50	\$90,200.00	\$120.00	\$78,720.00	\$150.00	\$98,400.00
5	6" Storm Pipe with Type I Bedding (Contingency for Roof Drains/Sump 901 Pump Connections)	LF	800	\$ 110.00	\$88,000.00	\$15.00	\$12,000.00	\$55.00	\$44,000.00	\$93.75	\$75,000.00	\$83.00	\$66,400.00	\$40.00	\$32,000.00
	N COLUMBIA AVE WATER ALTERNATE BID NO. 1-STORM TOTALS				\$274,700.00		\$168,328.00		\$230,782.00		\$267,456.00		\$249,206.00		\$230,220.00

				_
	No Bid	No Bid	No Bid	
	No Bid	No Bid	No Bid	
	No Bid	No Bid	No Bid	
	No Bid	No Bid	No Bid	
	No Bid	No Bid	No Bid	
	No Bid	No Bid	No Bid	

## BID TABULATION N COLUMBIA AVENUE WATER MAIN IMPROVEMENTS

City of Bexley, Ohio

	Bids C	Dpened: January 8th , 2025, 1:00 p.m.																				
Ref No		Description	Unit	Quantity	-	eer's Estimate	1515 H Columbus,	nd Sands, Inc. Iarman Ave. , Ohio 43223 444-5100	4500 Sno Mansfield	ting Co. of Ohio odgrass Road I, Ohio 44903 683-4200	8077 Me Plain City,	bert, Inc. emorial Drive , Ohio 43064 873-4677	121 S. V Crestline	xcavating, LLC Vashington Ave e, Ohio 44903 ) 224-1421	1221 E Columbus,	ral Construction Co. Fifth Ave. Ohio 43219 258-9515	1221 Columbu	eral Construction Co. E. Fifth Ave. Is, Ohio 43219 ) 258-9515	1595 F Columbus	aving Company Frank Road , Ohio 43223 276-5273	3042 Columb	nstruction Company McKinley Ave ous, Ohio 43204 4) 488-7958
					Unit Price	Item Total	Unit Price	Item Total	Unit Price	ltem Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	ltem Total	Unit Price	Item Total
		N COLUMBIA AVENUE STREET LIGHTING BID																				
1	10	001 Bolts	EA	20	\$7,000.00	\$140,000.00	\$6,100.00	\$122,000.00		No Bid	\$7,520.00	\$150,400.00		No Bid	\$6,000.00	\$120,000.00	\$6,916.50	\$138,330.00		No Bid		No Bid
		N COLUMBIA AVE STREET LIGHTING BID TOTALS				\$140,000.00		\$122,000.00		No Bid		\$150,400.00		No Bid		\$120,000.00		\$138,330.00		No Bid		No Bid
		N COLUMBIA AVENUE STEEET RESURFACING BID						i														
1	2	Removal of Unsuitable Base by milling and Replacement w/ 441 Type 2 Asphalt, As Directed (Contingency)	СҮ	60	\$600.00	\$36,000.00	\$415.00	\$24,900.00		No Bid		No Bid		No Bid		No Bid		No Bid	\$460.00	\$27,600.00	\$750.00	\$45,000.00
2	2	204 Proof Rolling	HR	2	\$150.00	\$300.00	\$125.00	\$250.00		No Bid		No Bid		No Bid		No Bid		No Bid	\$400.00	\$800.00	\$150.00	\$300.00

	N COLUMBIA AVENUE STEEET RESURFACING BID																	
	Removal of Unsuitable Base by milling and Replacement w/ 441 Type 2																	
1 203	Asphalt, As Directed (Contingency)	CY	60	\$600.00	\$36,000.00	\$415.00	\$24,900.00	 No Bid	 No Bid		No Bid	No Bid		No Bid	\$460.00	\$27,600.00	\$750.00	\$45,000.00
2 204	Proof Rolling	HR	2	\$150.00	\$300.00	\$125.00	\$250.00	No Bid	No Bid		No Bid	No Bid		No Bid	\$400.00	\$800.00	\$150.00	\$300.00
	Remove and Replace 6" Concrete Driveway Approach Per BEX-ST-03 Std			¢105.00														
3 252	Dwg	SY	60	\$135.00	\$8,100.00	\$124.25	\$7,455.00	No Bid	 No Bid		No Bid	 No Bid		No Bid	\$125.00	\$7,500.00	\$134.89	\$8,093.40
4 252	Asphalt Driveway Pavement Replacement, Type IIIA Per BEX-UT-05 Std Dwg	SY	40	\$150.00	\$6,000.00	\$98.00	\$3,920.00	No Bid	No Bid		No Bid	No Bid		No Bid	\$265.00	\$10,600.00	\$150.00	\$6,000.00
4 232	Dwg	31	40	<i><i><i>ϕ</i></i></i>	\$0,000.00	\$78.00	\$3,720.00			-					\$205.00	\$10,000.00	\$150.00	\$0,000.00
5 254	Pavement Planing, Per Plan	SY	12544	\$4.00	\$50,176.00	\$4.15	\$52,057.60	 No Bid	 No Bid		No Bid	No Bid		No Bid	\$3.40	\$42,649.60	\$3.60	\$45,158.40
6 407	Tack Coat, NTSS.1M @ 0.10 gal/SY	GAL	1254	\$5.00	\$6,270.00	\$3.25	\$4,075.50	No Bid	No Bid		No Bid	No Bid		No Bid	\$3.80	\$4,765.20	\$4.90	\$6,144.60
7 SS 151	0 Sami Seal with Polymerized Binder	SY	12544	\$5.00	\$62,720.00	\$4.50	\$56,448.00	 No Bid	 No Bid		No Bid	No Bid		No Bid	\$4.40	\$55,193.60	\$4.60	\$57,702.40
8 441	Asphalt Concrete Type 1 Surface, 1.5", PG 64-22	Ton	1058	\$125.00	\$132,250.00	\$108.24	\$114,517.92	No Bid	No Bid		No Bid	No Bid		No Bid	\$136.25	\$144,152.50	\$129.73	\$137,254.34
9 604	Curb Inlet Reconstructed to Grade (AA-S120), Per Plan	EA	6	\$1,000.00	\$6,000.00	\$1,800.00	\$10,800.00	No Bid	No Bid		No Bid	No Bid		No Bid	\$1,300.00	\$7,800.00	\$3,322.93	\$19,937.58
10 604	Adjust Existing Type C Manhole to Grade (AA-S102), Per Plan	EA	3	\$1,000.00	\$3,000.00	\$950.00	\$2,850.00	No Bid	No Bid		No Bid	No Bid		No Bid	\$600.00	\$1,800.00	\$1,800.00	\$5,400.00
11 605	Install New 6" Pipe Underdrain	LF	940	\$15.00	\$14,100.00	\$15.00	\$14,100.00	No Bid	No Bid		No Bid	No Bid		No Bid	\$13.50	\$12,690.00	\$21.80	\$20,492.00
	3" Roof Drain Pipe, Reconnect through Curb, As Directed	EA		\$60.00	\$600.00	\$400.00	\$4,000.00	No Bid	No Bid		No Bid	No Bid		No Bid	\$45.00	\$450.00	\$150.56	\$1,505.60
	Remove and Replace 4" or 6" thick Concrete Sidewalk and Curb Ramps,				,													
13 608	Class S, Per BEX-ST-11, 13, Spot Work As Directed	SF	1800	\$16.00	\$28,800.00	\$16.25	\$29,250.00	No Bid	No Bid		No Bid	No Bid		No Bid	\$13.50	\$24,300.00	\$15.59	\$28,062.00
14 608	Detectable Warning Surface, Cast Iron, Neenah Foundry or approved equal, 2' x 4'	EA	8	\$700.00	\$5,600.00	\$700.00	\$5,600.00	No Bid	No Bid		No Bid	No Bid		No Bid	\$600.00	\$4,800.00	\$402.50	\$3,220.00
	Install New Concrete Curb and Gutter, Continuous Per BEX-ST-08	LF		\$40.00	\$32,800.00	\$30.00	\$24,600.00	No Bid	No Bid		No Bid	No Bid		No Bid	\$40.00	\$32,800.00	\$37.94	\$31,110.80
	Repair Existing Brick Curb, Top Two Courses Only on top of Cement						+= ,=====											
16 Spec	Mortar Base, per BEX-ST-21 (Contingency)	LF	800	\$75.00	\$60,000.00	\$15.00	\$12,000.00	No Bid	No Bid		No Bid	No Bid		No Bid	\$58.00	\$46,400.00	\$97.65	\$78,120.00
	Install Brick Curb on Cement Mortar Base, Top Two Courses Only, per BEX			¢100.00														
17 Spec	ST-21 (N & S Commonwealth Park)	LF	120	\$100.00	\$12,000.00	\$62.50	\$7,500.00	No Bid	 No Bid	1 1	No Bid	 No Bid		No Bid	\$65.00	\$7,800.00	\$110.25	\$13,230.00
18 630	25 MPH Speed Limit Sign w/ Support, Complete	EA	2	\$750.00	\$1,500.00	\$550.00	\$1,100.00	No Bid	No Bid		No Bid	No Bid		No Bid	\$500.00	\$1,000.00	\$993.95	\$1,987.90
	Stop Sign, 30", Including Ground Mounted Support and "All-Way" Placard																	
19 630	R1-3-18 per Bexley Std. Dwg. BEX-MIS-01, Complete	EA	14	\$850.00	\$11,900.00	\$650.00	\$9,100.00	No Bid	No Bid		No Bid	 No Bid		No Bid	\$600.00	\$8,400.00	\$927.00	\$12,978.00
20 630	Stop Sign, 30", including Ground Mounted Support per Bexley Std. Dwg. BEX-MIS-01, Complete		4	\$800.00	\$3,200.00	\$600.00	\$2,400.00	No Bid	 No Bid		No Bid	No Bid		No Bid	\$500.00	\$2,000.00	\$1,014.55	\$4,058.20
21 630	Street Name Sign, Complete	EA	12	\$250.00	\$3,000.00	\$300.00	\$3,600.00	No Bid	No Bid		No Bid	No Bid		No Bid	\$270.00	\$3,240.00	\$509.85	\$6,118.20
22 644	Stop Bars, 24" White	LF	240	\$13.00	\$3,120.00	\$11.35	\$2,724.00	No Bid	No Bid		No Bid	No Bid		No Bid	\$13.75	\$3,300.00	\$11.92	\$2,860.80
23 644	Crosswalks, 8" White	LF	192	\$5.00	\$960.00	\$4.65	\$892.80	No Bid	No Bid		No Bid	No Bid		No Bid	\$5.70	\$1,094.40	\$4.88	\$936.96
24 644	Crosswalks, 12" White	LF	900	\$ 6.50	\$5,850.00	\$4.80	\$4,320.00	No Bid	 No Bid		No Bid	No Bid		No Bid	\$5.90	\$5,310.00	\$5.04	\$4,536.00
25 644	Double Yellow Center Line, 4"	LF	550	\$ 4.00	\$2,200.00	\$3.80	\$2,090.00	No Bid	 No Bid		No Bid	No Bid		No Bid	\$4.60	\$2,530.00	\$3.99	\$2,194.50
	N COLUMBIA AVE STREET RESURFACING BID TOTALS				\$496,446.00		\$400,550.82	No Bid	No Bid		No Bid	No Bid		No Bid		\$458,975.30		\$542,401.68
L					\$ 176, 18.00		¢ 100,000.02			1						\$ 100,77 0.00		<i>vo</i> 12/101100

David B. Koch, P.E.

Contractor:	Shelly and Sands, Inc.	Elite Excavating Co. of Ohio	Danbert, Inc.	Driven Excavating, LLC	Complete General Construction Co.	Jess Howard Electric Co.	Strawser Paving Company	Decker Construction Company
All required documents submitted	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes
Proposal Completed Correctly	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes
All spaces filled in properly	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes
Bid Addendums Acknowledged	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes
Total Price Checked	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes
Non-collusion Affidavit Completed	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes
Corporation Affidavit Completed (if applicable)	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes
Affidavit of Personal Property Tax Liability Completed	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes
Auditor of State- Unresolved Findings for Recovery Certified Search Completed	Yes	Did Not Perform Check	Did Not Perform Check	Did Not Perform Check	Did Not Perform Check	Did Not Perform Check	Yes	Yes
Bid Guaranty and Contract Bond Completed	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes
Detailed Statement of Qualifications Included	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes
Sub-Contractors List Included	Yes	Yes	Yes	Yes	No	Yes	Yes	Yes
EDGE Goal of 5% Compliance	Yes	No	Yes	Yes	No	No	Yes	No
Campaign Contributions Affidavit Completed	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes
Bond Amount	Amount of Bid	Amount of Bid	Amount of Bid	Amount of Bid	Amount of Bid	Amount of Bid	Amount of Bid	Amount of Bid
	Ohio Farmers Insurance Company/							
	Travelers Casualty and Surety	Travelers Casualty and Surety					Fidelity and Deposit Company of	
Bonding Agency	Company of America	Company of America	Hartford Fire Insurance Company	Ohio Farmers Insurance Company	Arch Insurance Company	Federal Insurance Company	Maryland	Cincinnati Insurance Company
A.M. Best Rating	A	A	A	A			A	A

				Engineer's Estimate	e Shell	y and Sands, Inc.	Elite Excave	ating Co. of Ohio	Do	anbert, Inc.	Driven F	Excavating, LLC	Complete Ger	eneral Construction Co.	Jess Hov	ward Electric Co.	Strawser	er Paving Company	Decker Cor	onstruction Company
I	+	+			% O/(U)	·	% O/(U)		% O/(U)	+	% O/(U)	,	% O/(U)	+ '	% O/(U)	· - · ·	% O/(U)	+	% O/(U)	+
N COLUMBIA WATER BASI	SE BID	TOTAL		\$1,957,717.00	-12.9%	\$1,705,684.50	-6.1%	\$1,838,900.00	-1.1%	\$1,936,482.76	12.3%	\$2,065,209.00	35.2%	\$2,617,240.00		No Bid	<u> </u>	No Bid		No Bid
N COLUMBIA WATER ALTERNATE BID 1-ST	JORM	TOTAL	=	\$274,700.00	-38.7%	\$168,328.00	-16.0%	\$230,782.00	-2.6%	\$267,456.00	8.0%	\$249,206.00	-13.9%	\$230,220.00		No Bid	<u>+</u> '	No Bid		No Bid
N COLUMBIA STREET LIGHTING	NG BID	TOTAL		\$140,000.00	-12.9%	\$122,000.00	++	No Bid	7.4%	\$150,400.00		No Bid	-14.3%	\$120,000.00	-1.2%	\$138,330.00	_ <b></b> '	No Bid		No Bid
N COLUMBIA STREET RESURFACIN			_=	\$496,446.00	-19.3%	\$400,550.82		No Bid		No Bid	++	No Bid		No Bid		No Bid	-7.5%	\$458,975.30	9.3%	\$542,4
		1			.  ,							, <b>[</b> '	1		, <b></b>	, <u> </u>	,,			